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Mouvement sur table à coussin d’air 
Echelle de la courbe : 0,6 cm  0,02 m 
 

v5 =
M4M6

2τ
=

0,75 ×
0,02
0,6

2 × 25. 10−3
= 0,5 m. s−1 

v12 =
M11M13

2τ
=

0,4 ×
0,02
0,6

2 × 25. 10−3
= 0,3 m. s−1 

v19 =
M18M20

2τ
=

0,6 ×
0,02
0,6

2 × 25. 10−3
= 0,4 m. s−1 

 
 
 
 
 
 
 
 
 
 
 
 
 

Bille d’acier 
 
 
 
 
 
 
 
 
 
 
 
Distances : B2B3 = B3B4 = 0,9 cm 

vB3
=  

dB2→B4

2τ
 = 

𝐵2𝐵3+ 𝐵3𝐵4 

2𝜏
 = 

0,1×2

40.10−3 = 5,0 m.s-1 

 
  25 cm = 0,25 m 1, 75 cm = 1,75.10-2 m 

0,1 m 0,9 cm = 0,9.10-2 m 
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